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L o e |
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(b) fowmy
@ sfong
(d) wTaq

% o9 ga g
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(b) fagms
(0 fs3es
(d) foge
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(@) »A3Esm
(b) MAI
() WA3
(d) 3y

% WWW#}»{TW i a5 2
€))
b fIa
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(d ud
5. HuHEE-E @ Ad feasy g
(@) HI
(b) Ul
()
(d) | |
6. I sl fed faad wiudt &% a3 B ¥l <a3 ae S adi deft 2
(a) a™

(b) ae
(c) Me
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(a) SHI
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10.

11.

12.

13.

14.

IS.
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n@lﬁwﬁ@mﬂa@wwm%
(a) Hd

(h) Ydd

(¢) ¥9d

(d) a"){f’ %%Eﬂ

aﬁwwmmamw%wwﬁmmméawﬂ?w
Hl‘lﬂ

(1)3T?ﬂ-ﬁ@

(b) ST

(¢) Ira-Eg

(d) i

Yardl gy 49 faaR mae @ Fu 29 fow mi €m 3 ufast g vadt feron fidg & =3 i
"4l 2 Ad feamsu g2

(a) feg

(b) Gd'

() J&T

(d) HIHAS

(a)wzmwmé | 59 <l e 391907 1 Tf v 9 39 faodt fam T e ) 2
(b) &L

() feime

(d) fIfP-fermes

I3 fesfemt 139 Fufea R wiowt § yarede ey A feamy g
(a) HUE

(b)y ¥uwrg

() HW-31y

(d) 3SHIg

HU T 9

(@) fefourgai 3 Aeret 99a Ags § A fidar
(b) fefenaftmit 3 FeTet aaa AgS § firar fidar
(c) [efenrafemii & Fereh Iaa AgS § A figr
(d) fefenrget & Agret a9a Ags & Fr g

Al HEe-1g ﬂ'&l :
(@) YHHSES
(b) HHYBA
() HHHBA

(d) YHIEBd

J& f8fimr f2g fggz YA€t 79 ‘Crimson’ @Wémfﬁ
(a) faavst

(b) fagadt

() faga

(d) fog9

Page 3 of 32



16 THS- YA IBIq’ B Wi T faa= mEe el
(a) Mutation Clerk

(b) Parcel Clerk
(c) Admission Clerk
(d) Withdrawal Clerk

17. 'Superior Officer WW@WH&EE’H@WW@’
(a) WIHI WA
(b) MBI wgAg
(c) f&JIudq ngng
(d) YIIEM mgAg

18. »fgrdt R Hge ‘Physiologist’ Eaauwélauaé
(a) Haﬂaafrruwéﬁﬁa
(b) Ffga-fafgnn-fefammsd
(c) FWdlaa frusTe migmmug
(d) AR st migwmyan

19. T3 2 fea T & T gudadt qu g
(2) Ha989
(b) HAIET
(c) 7_,13(3373
(d) HIILd

20. R HAS T T wiarae WIS i I w3 2
@) Het
(b) Fo-AS5E
() MdA3-AZEd
(d) »agEd

21. graudt faret i fisd A THee © »idodl gy B¢ Adt feasu g

(a) Three quarters
(b) One quarter More
(c) OnehalfLess

(d) One half more

22. )ﬁas%éwmﬁaﬁﬂwmm?
(@) A=MS
(b) TS
(c) U s

n

) UF
23. 79W6H&?f€€ﬁ%f$ﬁmﬂm?

(b) @233

(@ Gz
(d) €T



24.

25.

29.

30.

31.

26.

27.

28.
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Y3 M R o I R A I 20 IR FEE AHE 98 | g fedsU ¥
AU AES 39 |

HISTTEHG o IR T | o fedBu g UE 7S 99 |

@ s
®) T3
(© uA
(d) &

HeT fHW 997a9 W3 HIT% ent fegara Juz-fodt @ Wurs fou samd 9w gt 2
(a) 12 MUJ, 2010
(b) 12 Hel, 2010
(€ 12d&, 2010
(d) 1298, 2010

w2 Ad Aiemi g R fJfimit e es w3 g e feg fam & < 2
(2) HIIH I&HS
(b) Horfiwgaeg
() d<EIY A
(d) Tt s
?
(@) IBfergs
(b) HeddsT
(9 H&UHA
d) g3
e ygrar ¥ J9aT feus S wfadt g T Ee d, fAm Ohi..........e It gopdi I5 | Yt
B33 Fife-gy © g 3 gae feamy g€ A B A 34 |
(@) <
(b) dd
© &
(d) W&

I fafipnt £ faraar g gu feurs ey At @a-dt3 T ifa qu a2
(@) YHdJEgr

(b) WUE

(c) TIF

d) Gudas A
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32.

33.

34.

35.

36.

37.

38.

39.

5'070124.A/B
I3 {&eiort 931 e faodt Y <t yass 39-93 9 2
() 3T
(b) dIH3dl
() Mg
(d) &S

H I niiaem 1 B TS grari g ot & s o=t 2
(@ 15
(b) 17
(c) 19
d) 30

3T} IgeTH T Ihoff gt o 3T e T 2 |
(@) gAfw |
(b) gA Tt daret i€ |
() Bty |
(d) ¥ Ynrdtfdg

H I 576 22 1 < fags 99e 1l g e Afae R el g A wan 3 2
(a) Udd
(b) U<t
(¢ HgH
(d +4

T 91g THEH T T A6 [q93 HETs 3 Jfen 2

(@) diI3Yd

(b) B

() T wifi{3He Aiae

(d) FHEEYT

A 9g Afgas &8 fagrarar a1 <1 <93 18 3 ulas foan g Afaars S it 2
(a) FIIewI T H

(b) T I »HIEH il

(c) T IId IHH

(d) I MIAS e H

t 97g 391 9oed 7 fda< 91g AfoTs < AUST 6 2
(@) 98
(b) Yre
(0 ®<_
(d) F3R

i1 7l I1g wiaws T2 7 & I8 goT #l § W Ry T e Wi A, f3 <t ) g e
i Brog i K = S 7§ AR 2

(a) et efom iy

(b) de fHwggeg

(c) IEETTE

(d) I Hat fRY




$-070124-A/B

40. Ht grg Jifde fw D frresg oA fa gm ffg 3 7
(@) fd<t
OERGL
(c) oIt
(d) g

41, J5 faftmit (&9 faga fesmy i mee 2 wiget § yaeder 3
@ €A
(b) g@ﬂwfﬂw
()
(d) Use g fifm

42. I3 {ohmit i A feddt mee AT 92
@) §BE3/fmmg

(b) SBT3z

© Su/ens

(d) BHI/AET

3. Jo fafemii {9 faoar mee Hewer o misgeg 3 -
(@) YddaT
(b) B
(6 3G
(d) <¥ddge

44, %ﬁékawﬁ%w%ﬁﬁmﬂvﬁmma@
(a) ddit 3g vm Yare
(b) AR Y3Tr
() Bwmad=
d) faRdRI=

45, m?ﬂ@mmawm@%ﬁ@m@mwmm?
() SUEGY

(b) 33-gEH I

(© 3RTFS
d) 3By

6. %ﬁjkmﬁﬁw:fﬁmﬁw'wﬁwmmﬂé@?
(2) foA g et 99 I3a B
(b) TIH T i Jya

(a) @ﬁﬁwm@@mﬁm@%w%
() 89 7 I 1 3 e 319 39 e o gl € e e
(©) @ﬁﬁﬂawwmﬂéﬁﬂ@%%mm
() 3 et Yarx yre =1 e ft daft 3gF IH F9 A




48.

49,

50.

5-070124_‘#
'ﬂ%ﬁ@ﬁﬁwﬂzﬂfﬁﬁﬁaé@awé@,Q@'QUHH??_THE?WMQB’;@@W%
Hﬁmgaamma'mmwaamfe@mwmm? ¢
(a)éﬂmgﬁim}ﬂ?ﬁ

(b) T AT HTar 3 guR ’igwr AR

(c) T v Jifenn T, fag ogl wr g

(d) << HE I o by

ﬁmﬁém:gﬁvmﬂﬁséaiﬁaﬁweaﬁwn@&ﬁﬁﬁﬁafawmwmm
AR J 7 93 O feamut fi g

(a) E_l?l’ﬂ"é’ggégﬁﬁ-){@ﬁgﬁ

(b) IFUewam &’y fify

() TR 33 wa & &3 v

(d) ¥4 99 F9d Yoo S

%mwﬁ%mvmaﬁmammwmﬁeﬁmmﬁﬁﬁwﬁﬁwééw
Hean:

@ ¥
(b) &
© fag
(d) 99



Part-B

In photosynthesis reaction which of the following act as Photosensitizer?
(@) H0

(b) CO;

(c) Chlorophyll

(d) Light

el YR i It 3 Y faog Sefiierdima el i ager &7
H20 .
E:))) CO2

(©)

d TER

Identify the non-toxic and green solvent.
(@) Liquified carbon dioxide

(b) Benzene

(c) Carbon tetrachloride

(d) Toluene

J9-AfTS »2 Iidls ABS A uge 93|

What effect does temperature have on the half-life of a first-order reaction?
(a) Itincreases

(b) Itdecreases

(c) Itremains the same

(d) Bothincreases as well as decrease

3UYHTE T YfE-SH Y R wid les 3t yge durdy
() feg=uerd

b) fEgweerd

) feggdtafderd

d) TRITRMBUIR IS

. Which of the following is the strongest oxidizing agent?
(@) Pb2+

(b) 12

(c) Ag+

(d) Cu2+

583 &S frgz1 79 3 HAg3 wiaHisTEHaI Be O
(a) Pb2+

® 12

() Ag+

(d) Cu2+
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55. How to reduce random error?

(a) Take a greater number of readings by different observers.

(b) Do statistical analysis on the readings obtained in Step (a). |
(c) Perform both (a) and (b)

(d) None of the above

ISR aE S TR we@a
(2) Y- fadtuat enirgr ¥ fareat feg s 56
(b) H%um(g) ﬁa@gadﬁag%émmaa
(c) () "3 (b) T=< Yy=ana
(d) Buda3 feg It &<t

56.

Which of the following is used as an indicator in the titration of a strong acid and a weak base?
(a) Phenolphthalein

(b) Methyl orange
(c) Fluorescein
(d) Thymol blue

ﬁaHﬂg’:'a. WS 3 ¥ aHea Mug R afeeans ﬁafﬁawéﬁa@%fgﬁwﬁ%@@'
HETd?

(a) IAOBEEE
(b) frafes»ida
()

(d) TENBEG

=

57. Whatis the Molarity of the solution containing 5 gm of NaOH in 450 ml solution ?
(@) 0.278x103M

(b) 2.78M
() 0.278M
(d) 2.78x103M

450 fietEteg WS 59 5 9H NaoH T8 U S Hefadt st dr
(a) 0.278x10-3M

(b) 2.78M

(c) 0.278M

(d) 2.78x10-3M

58. The colour of the nano gold particles is
(a) Yellow
(b) Orange
() Red
(d) Variable



50.

Vulcanization is the process related to
(a) Stability of the nanomaterials
(b) Elasticity and strength of rubber
(c) Hardness of chemicals

(d) Crystallinity of the solids

TBAKIHAG (Vulcanization) mﬂs?ugqfarﬁwé
(a) BANSIHS T AfggTT

(b) JEI T BIII NI I3

(c) TAMES R ada

(d) BAYETE & fqrefsisd

Ifliquids A and B form an ideal solution,
(a) theentropy of mixing is zero

(b) the free energy of mixing is zero
(c) the free energy as well as the entropy of mixing are zero

(d) the enthalpy of mixing is zero

Hed 398 A3 B Rq negn I8 5§ I3,

(a) ﬁﬁlﬁméﬂ?@ﬂﬁ]ﬁ%

(b) HafHgIdiedt Qamdiad

() <dt GIn < as-as fiafifar S wieit i3 o
(d) MafFardesdtdfed

Which of the following inhibits DNA replication?
(a) X-rays

(b) Gamma rays

(c) UVlight

(d) Cathode ray

J&1 i3 e fagar shia Y=gt § Samr
(a) ﬂﬁ"ﬂ-g

(b) I fagat

(c) UV IHal

d) JE3 3%

Which is a microbial insecticide?
(a) Brevis

(b) Polymixa

(c) Bacillus thuringiensis

(d) Shtilis

fEq Hetaaafes dicama dt
@) fen

(b) YsifHaA

(0 SFigAgldaiteafmm

(d) Sbtilis

S-070124-A/B



63.

64.

65.

66.

A third generation pesticide is
(a) Pheromone

(b) Weedicide

(c) Juvenile hormone analogue
(d) Sterilogastrone

fea et it e 3
(@) ERR)

Nucleotides are made up of
Sugar + Nitrogenous base
-(‘5{ Phosphoric acid + Nitrogenous base

~f€) Sugar + Phosphoric acid

Sugar + Nitrogenous base + Phosphoric acid

etz R R I

(a) FId + BTEIHS Mg

(Z) Tl NS + aTEleH® 8H

(c) Eﬁ+@ﬂéﬁaﬂﬁ3

(d) TIE + SEASH I + THT AHS

Which of the following is not example of disaccharide ?
(a) Lactose

(b) Maltose

(c) Starch

(d) Sucrose

Which of the following biomolecule cannot be used as energy source ?

(a) Proteins
(b) Vitamins
(c) Carbohydrates

(d) Lipids

@ Ys
(b)
()
(d)

$-0701;



37.

Coliform 8roup of bacterija includes aJ the bacilli that are
(@) Aerobic

(b)  Anaerobjc
(c)  Aerobic, NON-sporulating

(d) Aerobic, gram negative, non-sporu]ating

Amino acids are building blocks of
(@) Polysaccharides

(b) Fats

(€) Proteins

(d) Nucleic Acids

mﬂﬁﬁfnséfaufs‘mmaa
(a)&mﬁaa'@gn
(b) Tast

(@) Cell elongation
(b) Cytokinesis

(c) DNa duplication
(d) Spindle formation

(@) Voltaic cell
(b) Photovoltaic cell
(c) Electrolytic cell
(d) Fuel Cell

%Wféﬁmﬁmﬂm%ﬁﬂﬁﬁ?ﬁb@@%
() <Bfeaq iz
(b) RBAMTHT

@ g
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71.

72,

73.

74.

75.

$-070124-A/i

Burning of CNG
(@ co

(b) co2

() CH4

(d) CFCs

(a) CO§ &% 193 3 I g der et

(b) co2

(c) CcH4

(d) CFC

g)Y sngr?ic\l;?: gy flow model, one arm represents herbivore and the other
(b) Decomposer

(c) Omnivore

(d) Secondary

Y- R Gy Hres i, i i - g w3 g g eameed
(a) HHTE! n -

(b) SHuag

(c) Wﬁ

(d)

What is the limit of noise in day time (6am-10am) in commercial areas:

(a) 50dB

(b) 65dB

(c) 75dB

(d) 100dB .

U9 U391 g e R AN (6am-10am) I8 T FIHT & O:

(a) 50dB

(b) 65dB

(c) 75dB

(d) 100dB
Association between
() Ammensalism
(b) Commensalism
(c) Symbiosis

d) Predation . "
%@E@ﬁu&»ﬁmﬁﬁ-ﬁﬁbﬁﬁmmf&ﬂﬁﬁamé

produces which of the gas in major quantity

Grazing cattle and insects is an example of

(d) . . .
Thangi landslide occurred on which river?

(a) Sutluj
(b) Chena
(c) Ravii
(d) Sota

ﬁmw'z}ai'aﬂmﬂﬁfuﬂafaﬁﬂﬁ?

Page 14 of 32



76.

/7.

5-070124-A/B

Which gaseous material is used for the synthesis of methyl isocyanate?
(@) Sevin

(b) Chlorine

(c) Argon

(d) Phosgene

Ihmmwéﬁn@ﬁaémmnmmmm IS A &
@)

(b) ISJE

(c) Mddis

(d) SHAS

The flood situation is said to be “Unprecedented” when the water level of the river crosses
(@) Touches the warning level but remains below danger level

(b) Highest flood level (HFL)

(c) Touches or crosses the danger level but remains 0.50m below the HFL

(d) Below the HFL but still with the 0.50m of the HFL

I A AfEH§ " wisdrEes  faor e IAe sdl R Ud v lug yg AT d
(a) U3 VYT G gI YT ¥II R Uugd I 5T afderd

(b) H3 3 €Y IZI T YU (HFL)

(c) Y3V UUT G gae Al U'd 921 J YT HFL 3 0.50m I IfJard

(d) HFL3 I UIfea @ HFLR 0.50m &S

Which acid is synthesized, when in presence of natural sunlight and the level of Sulphur dioxide is (5-
30 ppm) and relative humidity is about 32-90% ?

(@) HCI

(b) H2S04

(c) None

(d) HNO3

JTJ3t §od <t IAa1 < Hged 99 713 ASEd STehamrets w1 ud (5-30 thibih) w3 Fifug st
T34 32-90% I '3 fqa= Wiz fAGEAERS 3T dier

(a) HCI

(b) H2S04

(c) gt adl

(d) HNO3

Which of the following gas is not considered as an air pollutant under both AQI and NAAQS, which one
of the following is not an air pollutant criterion?
(a) SO2

(b) CO

() NO2

(d) co2

o fesalinit 9 forael 1A § AQU 73 NAAQS =12 3103 T YEwa &l o mirer 3, I fisfugm vy
frgan i 9 YgHa HIUTS &d1 7 <9
(@) SO02
(b) CO
(c) NO2
(d) CO2
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80. Asound pre i i
e pressure of 1Pa is equivalent to 3 sound pressure leve] of
(b) 50
(c) 75
(d) 94

1PaTAESYING ........ 3Es

Hings (dB) R TS5 YdHa ® ug ¥ gareg 3
(b) 50

(© 75

(d) 94

......... decibels (dB).

81. “Convention on Migratory Spec
G Base Convemglon ry Species” is popularly known as:
(b) Minamata Convention
(c) Bonn Convention
(d) Convention on Biological Diversity

" FEeoHG G5 Heladed mit ECkeL Ut I
(a) SIS IBBHS ki o
(b) e Toars

() U6 TBEHS
(d) TE<oHG S GBS sEegAd

82. Ramsar convention deals with conservation of which of the following:

(a) Wetlands of International Importance
(b) Conservation of endangered deer

(c) Coral reefs of international boundaries
(d) Conservation of medicinal plants

W%W@mémmﬂaﬁaé
e |

83. Which Act provide provisions for enforcing levy and collection of a tax on water consumed by

Industries?

(a) Water (Prevent
(b) Public Liability Insurance Act 1991
(c) Environment (Protection) Act 1986
(d) Water (Prevention and control of Po

ion and control of Pollution) Cess Act 1977

llution) Act 1974

%?) 3T e 1986
S (YT A JaEny w3 fsrigae) e 1974




84.

36.

5-070124-A/B

The initial target of the National Solar Mission was to install of solar power by 2022:
(@A) 35GwW

(b) 100GW

(c) 20GwW

(d) 50Gw

?H)- EBB?C?HW?MEI@ 2022 ﬁmﬁ@wﬁ__éﬁmmm
a w

(b) 100 GW

(c) 20GW

(d) 50GW

What percentage of reduction in the global greenhouse gas emissions is needed by 2030, from 2010
levels, to keep global warming no more than 1.5°C ?

(@) 35%

(b) 45%

(c) 65%

d 70%

IR TG 1.50C I Tu BT IHE B, 2010 T UTI 3, 2030 IT IBTS e @A I < foa K9
fdatyZtms it aadr

(@) 35%

(b) 45%

(c) 65%

) 70%

What is the Venue of COP28?
(a) India

(b) Brazil

(c) UAE

(d) Australia

COP28 TTHETE ol 7

Carbon credits can be created by

(a) Capturing, Loaning and Storing emissions
(b) Reducing, Capturing and Storing emissions
(c) Emitting, Capturing and Storing emissions
(d) Emitting, Capturing and Trading emissions

TIEE Af3< fA THTdT 5 AT Aale I

(@) Suadd), Bnfédr w3 HldamfEGH
) s, auefddr 3 refdaaiimen
(0 effehEq) dusfddr 3 AfdarifHIGH
(d) effeféar quefddr 3 RSarifian
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88.

89.

90.

91.

5-070124.yy

Under the principle of “common but differentiate ibili i iliti

E);)otolc)ol puts heavier burden on which of the follgvrv?flzoc[:)s:gltlrlitgs?nd R e Kyo
oor !

(b) Underdeveloped

(c) Developed

(ngH Devgloping

" .Lla. : . o_o, ) . . Qv cpv

gl EHEW-_ éf:f‘r’rﬁefaﬂw. w3 Aoz mdarer ? frui3 @ 3fa3 a6 Y2 I fe3 et e fan

() ddig

(b)

(0

(d)

;‘)\ls1 :gird tl(;ivl::lggl; .;g;eol}?dment under the Montreal Protocol which of the following gases should be

(a) Carbofluorocarbons

(b) Hydrofluorocarbons
(c) Hydrocarbofluorocarbons

(d) Ozone

}ﬁza"'lms(Montreal)ﬂ?ﬁgéwmmémzosoﬁ%w&ﬁﬁﬁwaﬂiﬁ
UFmiETg WefenT FidT rdier 37 ]
(a) AIISBIAIES

(b) TEZEBISIS

() TEZAHeHITIES

d) €&

3 hosted the 59t session of which of the following organizationsj

The Kenyan government in July 202
(@) Intergovernmental Panel on Climate Change

(b) Environment Protection Agency

(c) Conventionon Biological Diversity
(d) International Union for Conservation of Nature

WW%WZOB%@EWW%@
(a) mgaﬁma@fézaa‘laaﬁﬁ?gﬁm

f = 503 ARG S HEa S5t

8 —

on Act, 1980 {Section 3(B)} deals with

ch offences are made by traders
s are made by Children

Forest Conservati

(a) Casesin whi
hich offence

(b) Cases inw n

(c) Cases in which offences aré made by authorities

(d) Casesin which offences are made by local people

FIB3 HIE MAC, 1980 MB(%}W;@%a

(@ Garmid g g 2urdhi AT 39 5
' ‘ gOH S A I6



92.

r93.

94,

S-070124-A/B
“Black buck” come

S under the Which schedyle of the “Wildlife Protection Act”, 19727
(@)  Schedule I
(b)  Scheduyle ||
(o) Schedule II1
(d) Schedule [y

nt Committee
Committee

n Committee
arance Committee

(b) Expert Appraisa]
(o) Project Evaluatio
(d) Environment Cle

(b) 1992
(c) 1988
(d) 1978

Yionegs =iy Ha'm"fanm'?'?reaa ﬂaﬁfa@agr'wﬂaammﬁm
(@) 1998

(b) 1992
(c) 1988
(d) 1978

ol Pollutiop Act, 1981
ivi ice to government of not less than:

(@) 15 Days

(b) 60 Days

(c) 90 Days

d 120 Days

DT UISHES M3 435 IgHz ez 1981 é@%aﬁmﬁ#ﬁn@aﬁ%ﬁ%&e
3l I § B S 3 R wrfeg e

() 15fes

(b) 60fes

() 9ofes

d) 120fes
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96.

97.

98.

99.

5’070124‘%

allow human activities ?

Which of the followin
(@) Core Zone

(b)  Buffer Zone

(c) Restoration Zone
(d) Reclamation zone

g zones of “Biosphere reserve” is does not

(wm'@mmﬁmmmmmmmmﬁw
a) : )
(b) SS9us

(0 TS as
d) ;N

“Project Tiger” deals w
(@) Panthera uncia
(b) Panthera pardus
()  Acinonyx jubatus
(d) Pantheratigeris

"Ilﬁaz?e?ma"asfzzm»ﬁﬁé‘ﬁnéﬁ‘@Ewﬂﬁmﬂ:
(a) UBI wifgnn

(b) UIsH

(©) W garen

(d)

ith the conservation of which of the following:

Which of the following is considered as “Hope Spot” of India ?
(@) Andaman and Nicobar Islands

(b) Western ghat

(c) North-East

(d) Kashmir

J&t fE3 fed fam § Iz e Ju Al " i wier 3
(@) »eHsm3fsdagany

(b) YsHture

() §33-yse

(d) SHig

When industry with ‘Red’ category is to be established, it is necessary to have public hearing or
inquiry under the procedurg called as: i
(a) Environmental Litigation

(b) Environment Management System

(c) Environmental Impact Asse.ssrr.lent

(d) Environmental Health Monitoring

¥ e G e e, 3 e g e e koS e e
(a) TIEIE HGR HANET

(b) W@e _

(c) T3=IAY; HBIAC

(Z) TIreds a3 feaamal

Page 20 of 32



101.

03.

102,

S-070124-A/B
ndian Constitutiop (Directive Principles of State Policy for Environmental
ed in 1974 after the
() 42" amendment
(b) 40" amendment
() 29 amendment
(d) 1§th amendment

E?UETMQ(%%H&@WW‘ MR UiEH &9 imergsites YTH®) § 1976
ﬁamsﬁyﬁwm

@ 42dmise

(2) 40 niimz

© 29N

(@) 158 nimYe
The variance of a constant X' is:
@ o

(b) x

(@ x/2

(d) 1 -
feadmea X' T ISt .
@ o

(b) x

(© x/2

d 1

If the standard q

eviation of 3 se
standard devy;j

t of observat
ation of the new o

ions is 4, and each observation is divided by 4, then the
bservations ig

@ 16
(b) 4
(0 2
@ 1

for mass and 29,
uld make when measuring the density (rho=m /a3)
(b) 5% '

3 I, 3 I ferdt we (rho) faguras ggar
»Bfen@uﬁmzﬁﬁwé(a)zj;wémaaﬁaamw
O IBH Y, T we
(@) 1%
(b) 5%
() 9%
(d) 6%

f‘éﬂy"ﬂwh%»émw 2% Ry
(rho = m/a3) gméﬁsﬁéu?éuﬁ?ﬂmsmﬂa‘éé?
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104. The mean of 5 observations is 3 and variance is 2. If three of the five observations are 1, 3, 5, f;
other two : > tind t,

(@) 6ando
(b) 3and3
(c) 2and4
(d) 1ands

5 fesdet T imHTs 3 Jni fefdest 2 ) A U fadhue fed 95 1, 3,5 96, I T R 3.
(@) 6M30
(b) 3M33
(© 2734
(d 135

105. Inan asymmetric distribution, if the mean and median of the distribution are 270 and 220 respectively
then the mode of the data is
(@ 120
(b) 220
(c) 280
(d) 370

T8 wAfH3 35 S8, Agd <5 o ie w3 WaHTs Hed 270 M3 220 96, 33T
(@) 120
) 220
(c) 280
d) 370

106. Find the mean, median, and mode of the given set of data: 3, 6,12, 17, 12, 14, 6, 8,12, and 10.
(@ 10,11,10
(b) 10,12,11
(c) 10,12,10
(d) 10,11,12

- '
3212 fd3 I He T mean, median, and mode B3: 3,6, 12,17, 15, 14, 6, 8, 12, %3 10.
(a) 10,11,10
(b) 10,12,11
(c)_ 10,12,10
S 10,11,12-

107. A man bought 20 cows for X 2,00,000/-. If the average cost of 12 cows is 12,500/-, what will be }
average cost of the remaining cows?
(a) %9,500/-
(b) %6,250/-
(c) %9,250/-
(d) %6,500/-

el 2,00,000/- T 9 20 Tt vdtehot| Werd 12 Tt A AR M 212,500~ 3, JEEAT
Ttz 3 fdat It

(@) 39,500/

(b) %6250/

(c) %9,250/-

(d) <6,500/-
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112

P9. In a positively skewed distribution, how do the mea

<_ ——————
o

S-070124-A/B

The arithmetic mean of the scores of 3 8roup of students in a test was 52. The brightest 20% of them
secured a mean score of 80 and the dullest 25

%, a mean score of 31. The mean score of remaining 55%
is
() 54.16%
(b) 45.23%
(© 50.31%
(d) 51.36%
ﬁaﬁzf@%%%fﬁa@%»ﬁ
80 T WH3 Had M3 WY Jufe 25%, 319
@) 54.16%
(b) 45.239
(€©) 50.31%
(d) 51.36%

eI T3 N 52 7 Buat fSd Az I ofimmg 20% 3
»‘{‘Hzﬂéalﬂugsﬂgn‘ér'mSS%@»’mzﬂéaél

n, median and mode compare?
(@) Mean > Median > Mode

) Mode > Median > Mean
(c) Median> Mean > Mode
((1) Mean = Median = Mode

AN At S5 g, I, HOHTS 23 3 & Zar fad it it 3y

(@) Mean > Median > Mode
(b) Mode > Median > Mean
(c) Median > Mean > Mode
(d) Mean = Median = Mode

- The sum of the deviations about the mean is always:

(@) Negative

(b) Zero

() Standard Deviation

(d) Positive

HOHTS &9 3fenims = 313 i Jar 3,
(@) AIAI3IHI

(b) i3

() HIZI3 fomms

(d) HIT3HA

The parameter____ jsdeterm
during the biochemical oxidation of
(@) BODS

(b) cobD

(c) ToC

(d) ThoD

ined by measuring the dissolved o

Xygen used by micro-organisms
organic matter in 5 days at 20°C,

Page 23 of 32

Sad s




112. With the change of temperature, the solubili

113.

114.

115.

ty of oxygen is described by :
(@) Itdecreases with increase in temperature

(b) Itincreases with increase in temperature
(c) Itdecreases with decrease in temperature
(d) Itdoesnot depend on temperature

mmmmmﬁémﬁmwmma
(a) 3N <0E &8 feg uewr )

(b) fea IS Tu 1 Tgery

(c) SUHE Wee &% fegweard

(d) fea 3 3 fsgag affagera

In determining the COD in water which statement is true ?
(@) Waste water is oxidized using sodium

(b) Waste water is oxidized using dichromate

() Waste water is oxidized using bromine

(d) Waste water is oxidized using oxygen

Y fSg i3 (cop) & faauras siaw s feraw as 7a 3
() IR U & Ao <1 293 ST wiaHISTE A T e
(b) 38 e § STfeie € <93 T maHISE i3 HET d
() IR YA wIfs T =93 Faa wrarisTE R ST AieT d
(d) TR U § WraFivs ot <d3 qaa WITHISTER 131 7T d

Which of the following is not a type of electromagnetic radiation Spectroscopy?
(a) Gamma ray spectroscopy

(b) Xray spectroscopy

(c) Nuclear magnetic resonance

(d) Acoustic spectroscopy

(d) M8AIH (Acoustic)

In chromatography the elution from golumn g
(a) Components with greatest affinity elute firs
(b) Components with least affinity elute first
i er
¢) Components elute in arandom mann e :
Ed)) Comgonents elute according to their concentration in the mixture

(&) fire g B3 €l argrue @ nigAE g @ faam derd

070124,




16.

i7.

9.

. What happens when a s

S-070124-A/B

Gas chromatography, which of the following detectors has high sensitivity to all organic
In

2
compounds?
(a) bolometer detector

(b) Thermionic emission detector
() Flame ionization detector
(d) Photomultiplier tube detector

%,W@mﬁmmﬂm(orgamc)wm%mw

Which of the following molecule will show absorption in the infrared region?
(a) Nitrogen

(b) Hydrogen

(c) Methane

(d) Argon

f&wﬁ%ﬁw»@ﬁmmﬁaw (absorption ) TJHTEG?
(a) &TEtTS

(b) TERAS

(0 Hies

(d) Mddia

pin %2 nucleus is placed in a magnetic field and irradiated at the Larmor
frequency?

(@) The nucleus spins faster

(b) The nucleus stop spinning

(c) The frequency of precession of the nucleus changes
(d) Transitions are excited between spin energy levels,

mj@awﬁam%m@a%mgﬁammﬁamwammm@
(magnetic) Hard?

(a) T QT 357 a7 e )

(b) fEQTEM A Wi g g fidar)

() fe @& 2 ufgegss @ sdgrgar

(d) ufg=a3s (transitions)Afd& Qam gt fegara @3mfas de I

In Atomic Absorption Spectroscopy,
(@) Tungsten lamp

(b) Mercury arc lamp

(c) Hydrogen discharge lamp

(d) Hollow cathode lamp

YIHTE FHTE! RUTSHN g, st o Rz 3.
() SITHEs Y

(b) Haadt mrgg By

(o) T3 fsmaar By

(d) TymT ez Fy

the source of radiation is :
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120. Instrument used in determining the quantity of heavy metal contamination in water is
(@) Liquid Chromatography Mass Spectrometer
(b) Solid Chromatography Mass Spectrometer
(c) Gas Chromatography Mass Spectrometer
(d)  Inductively coupled Mass Spectrometer

Y <9 97 wng ® divdlt € 1= § faguds 996 B8 < e T8THUS 3

(a) 3T N[ HA Mlaediicd ’
(b) SH AT WA AT eHiea 2
() IH N HA FITeHied

(d) 1l_d_o(E‘!‘Ef(lnductively) 3R YA idedited

121. Inarow of girls, If X who is 10t from the left and Y who is 9t from the right, interchange their POsitions, 1
then X becomes 15t from the left. How many girls are there in the row?

It & f¥q 9319 &g, Aga x A 94 3 109 m?vﬁﬁﬁ?%*ﬁ,@imie%ﬁﬂfaélhﬁémaa

?ﬁégwawwmmfé’afa"ﬁ»ﬁgﬂvﬂaﬁ?
a) 23 i

(b) 31

© 27

(d) 28

122. If all the vowels are dropped from the below arrangement which of the following will be the twelftl
from the left end of the arrangement? N
ﬁmﬁﬁﬁélﬁuﬁﬁwmﬁéﬁ?ﬂ@?qﬁuéﬁémiﬂ@@ﬁﬁmmﬂéﬁm

éKEFB%7D$EBSC?3DE9@2# AETOV
(@ 3 23 M56 F7 Sowi QX

®) @
UeY” D

(d 9

123. In which country Olympics 2024 will be held?
(a) Paris, France
(b) Milan, Italy
(c) LosAngeles, U.S
(d) Tokyo, Japan
G3fux B3t 2024 fom 2w fE9 Ieainiz
(@) ﬁﬁﬂ, SdiH
b) 13w, feegt
(c) SHEABH gAH
(d) &G, AU

124. ISROlaunched ________ satellite on 1st January 2024.
(a) Chandrayaan-3

(b) Aditya-L1 spacecraft
(c) COSMOS 2573
(d) XPoSat

ferd ¥ 1 A5<dt 2024 ¢ Quafo g o
(a) dogua-3

(b) wfefann-L1 yorg o

(c) CcosMos 2573

(d) XPoSat
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he study of insects is known as

Lo it T PG 2 A wEr

(a) Entomology
(b) Petrology

(c) Botany

(d) Anthropology

'Goldman Award' is given for outstanding contribution in which of the following fields
(a) Population Control

(b) Popularization of Science

() Conservation of Energy

(d) Protection of environment

FNEING WETS WWHBE%WHHBHEG HeeTd HaeTs S fosi AT d
(@) MEE AeIB

(b) Tefomrs < yHd

(c) BT didsTs

(d) <T3=IS < AT

Which of the following countries won women’s Hockey in Asian Champions Trophy 20237
(a) India

(b) Japan

(c) China

(d) South Korea

T Suliied 2aet 2023 9 I6 f59 w849 fan @ Higsr o fifsh
(a) <'d3

(b) TUS

©

(d) TYE g

8. Arrange these words in alphabetical order and tick the one that comes last

fegst HEel § T9osT < 9 < feemfes <9 w3 7 ymdt wiger 3 87 €3 fars warg
1. Abandon @ Actuate 3.Accumulate  4.Acquit 5. Achieve

(a) Actuate B

(b) Accumulate

() Acquit

(d) Achieve

. 1f South-East becomes North, North-East becomes West and so on. What will West become?
(a) North-East
(b) North-West
(c) South-East
(d) South-West

Hd TYT-YIY §39 ¥ #ier I, §39-Y99 UeH 5 7w 3 13 fom 31 ven ot waam
(@ €33-Yyd"
(b) €33 UeH
© Y
(d) TUS-UsH



130. Find the missing alphabet in the given sequence?

€3 1S9 v IR cgos § 837
W,§5,0,?2,G,C
(@ 1
(b) K
() H
(d) )
131. What is the value of x in the followin equation?
Mg K x TS %?
1625 x 16x= 167
@ 3.9
(b) 45
(c) 3.7
(d) 4.1
132, Whatis7+7+7+7x7-7=1?
@ o
(b) 42
(e 50
(d) 57
133. If"#" means "subtraction", "&" means "division", "@" means "addition" and "%" means "multiplication’,
then
AT "#" THFH I "WITG", "&" THFE I "IT", "@" TWFE I "HI M %" T Mg 3 g 3t
516 &6#11@50%4="?
(a) 210
(b) 274
(c) 250
(d) 275
134. Which Indian state was the first to have a woman chief minister?
() Uttar Pradesh
(b) Madhya Pradesh
(c) Sikkim
(d) Arunachal Pradesh y
9193 ¥ fqa3 I 29 A9 3 ufaw fiq HigmT iy izt i
(@) €33yEH i
(b) Huyew |
() fHaH
(d) *ITHSYRH

S—— —

. -

135. ‘Kaziranga national park’ is situated in which state
(a) Rajasthan
(b) Gujarat
(c) Himachal Pradesh
(d) Assam

AT SHGS Uad far I fég Aigs 7
(a) IHAES

(b) QI3

(@ foragyen

(d) WA




55 5w 3T 3 29, DIAMOND & VQYMKLY T8 38 dig1 wier il CRUELTY  fore 38 o3 e 37

137.

138.

139,

40,

41.

42

5-070124-A/B
certain language code, DIAMOND is coded as VQYMKLV. How is CRUELTY coded?

@ WHFVMFB

(b) XIFVMFB

(©) WHEUNFA

(d) None of the above

In the following series, what number should come next?
il i B (<8, »9 faoa Sgg wi@a gt O
52,51,53,52,54, 53, ...
(@) 52
(b 54
() 55
(dy 56

Which word does not belong with the others?
foraa e i o8 AUz Bl O

(&) Bud

(b) Tulip

(c) Daisy

(d) Jasmine

In the following question, select the related word from the given alternatives?
Careful is to cautious as boastful is to

Jo' &3 s e, i3 9 femut R Hidiug e @ 3= o
AU I ARTs 3 e it Higs e

(@) joyful

(b) humble

(c) arrogant

(d) suspicious

Present age of X is 48
(in years) of Y?

g);gg@m4smﬁl7wm,x»@vé%mm5:sﬁgﬁ%aﬂl Y S ige @19 (i
? g g

(a) 60
(b) 62
() 54
(d 59

years. 7 years hence, ages of X and Y will be in ratio 5: 6. What is the present age

Fill in the blank to make the sentence
All the winners

(@) will be given
(b) will given

(c)  will be giving
(d)  will have given

grammatically correct in the following question:
Prizes tomorrow,

Fillin the blank to make the Sentence grammatically correct in the following question:
English all over the worlg,

(@) speaks

(b) isspeak

(€ is speaking

(d) is spoken
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143. Which of the phrases given below the sentence should replace the phrase printed in bold type to make
it grammatically correct?
The women to who I sold my car was a cheat.
(a) towhomisell
(b) towholsell
() who was sold to
(d) towhom!Isold

Choose a word from the following options that has the same meaning as the word given below in

following two questions:
144, Restrain

(@) Prevent

(b) Incite

(c) Liberate

(d) Unleash
145. Vigilant

(@) Careless

(b) Cautious

(c) Negligent

(d) Distracted

146. 95 f50 maei § fadt 5o e Qarfan Aler 97
U[d, 34, 9T,
(@) a<ind
(b) UTdlHEI
© €ding
(d) fegstfedad
147. I3 &HE T&! foadt 97
(@ ™
(b) ¥
© ¥

td) & . .

148. T, 2, €, &, &%, I ___ i GTIITT I8
() W
(b) HEU
() feAmE _
d) fegstfgadiad

149. I3 foy mee Yard <t fan QU gmn € 9&?
(@
(b)
(¢ o
(d) Wit

150. yHfed fenias fgazr 37
(a)
(b)
(9]
(d)

al al g 1
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